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No BT R HE HElniELE trL-134 t 9 L-137 EEE

Ba. kg Bg. kg Ba ke
1 L R4.11.21 AF3 (% BREE9(<4.2) BRHEE9(<3.8) BRHEEY
2 At R4.11.21 R g BRHEET(<41) BRHET(<L3.8) - Janpcc
3 =banil R4.11.17 —Z(Mez% BREE9(<8.5) BREE3(<L7.5) - Janpcc N
4 =bahil R4.11.18 avyr BREE9(<45) BRHEE9(<34) - Janpcac N
5 Zh= 1 R4.11.18 Lavxy BRHE9(<6.6) BREE9(<6.7) - Janpcc
6 AZTh R4.11.21 Hho BRHEET(L5.1) BRHET(<3.9) - Janpcc N
7 N /NG ] R4.11.22 = Ty BREE3(<44) BRHET(<L5.0) L Janpcac N
8 N /N ] R4.11.22 H7o BREE9(<42) BHEE9(<3.9) - fanpca
9 HEHEET R4.11.21 k< (fEE%) BRHET(<3.4) BRHEET(<4.0) BRHEY
10 HEHEET R4.11.21 Joyal— BREE9(<5.9) BRHEE9(<L3.5) BRHEY
11 EHEET R4.11.21 T BRHEEI(<5.7) BRHEE9(<4.2) BREEY
12 EHEET R4.11.21 INIHA BHEEY(<6.1) BHEY(<6.3) BREEY
13 EHEET R4.11.21 HrAE BHEET(<41) BHEEY(<33) BREEY
14 FEMH R4.11.22 AF3 (% BHEET(L31) BRHE9(<3.0) BREEY
15 ZITHT R4.11.22 AF3 (EE%) BRHEE3(<4.2) BRHE9(<3.2) BREEY
16 JI{RET R4.11.18 NTHA BRHEE9(<5.9) BRHE9(<5.6) BREEY




BRERER

No 5 RERH AHDERE Iy L-134 2 L-137 BEE
Ba kg Ba kg Ba kg

17 REH R4.11.22 — Ty B 9(<5.6) B E9(<45) ikl
18 REH R4.11.22 RoL2YY BRHEE7(<6.9) BRHEE7(<6.1) BREEd
19 BERhHT R4.11.22 Bht BREET(<41) BRHEE9(<4.2) i Jarhcar
20 R URHET R4.11.18 NTHA BRHEE7(<43) BRHEE7(<42) BREEd
21 Hh = BT R4.11.18 avvt BRHE9(<6.6) BRHE7(<6.3) BREEd
22 HR2HT R4.11.18 RoL2YY BRHE9(<6.3) BRHE9(<5.8) BREEY
23 RESHT R4.11.17 473 (HEE%) BRHE9(<36) BRHEEY(<27) BREEY
24 RESHT R4.11.21 g4z BRHE9(<3.9) BRHEY(<3.2) BREEY
25 RESHT R4.11.21 NgHA BRHE9(<3.9) BRHEEY(<34) BREEY
26 =T R4.11.16 =Ty BHE9(<4.0) BHET(<4.8) BRHEET
27 =T R4.11.21 Vi) BHE9(<5.2) BHET(<4.3) BRHEET
28 =) R4.11.21 NyHA BHE9(<6.1) BHET(<44) BRHEET
29 JHIES) R4.11.16 FrRy BRHEEY(<54) BRHE9(<5.3) BREEY
30 lIES R4.11.16 NI A BRHE9(<6.9) BRHEE9(<7.0) BREEY
31 FHEH R4.11.18 =AY BRHE9(<3.3) BRHEEY(<34) BREEY
32 & JIET R4.11.21 HAav BRHE9(<4.9) BRHE9(<3.6) BREEY
33 i) R4.11.21 AT A BRHEET(<4) BRHE9(<3.6) BREEY
34 HEZERT R4.11.21 FUTHA BRHEET(<3) BRHE9(<3.2) BREEY
35 JRITET R4.11.14 IO (XH) BRHEE9(<7.6) 12.7 13

36 JRSTHT R4.11.21 A4 F3 (FEE% BRHE9(<3.3) BRHE9(<3.0) BRHEET




BRERER

No b1 R A HEDFESE i 1-134 t 9 L-137 EEE
Ba. kg Ba. kg Bqg. kg
37 EREEHT R4.11.21 YIS BRHEEI(<8.1) BRHE9(<5.9) BHEY
38 AR EEAT R4.11.21 a) R BHEEY(<42) BRHEEI(<3.9) BHET
39 ABIM R4.11.18 ax BRHET(<3.7) BRHEY(<3.2) BRHEY
40 SiEIRTHET R4.11.21 Xory BRHE(<3.9) BRHEY(<3.6) BRHEY
4 EJIFF R4.11.18 ax BRHET(<3.7) BRHEY(<3.6) BRHEY
42 o BET R4.11.17 ax BREE9(<4.2) BRHEE9(<4.8) ‘9
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mEtEES DL
8
100Bg/ kg% X 5L D0
BREHE
No BT HEE HEniEE ) 1-134 S L-137 a2HE
Ba. kg Bg. kg Ba ke
1 = [T R4.11.21 RoLovy BmHEE9(<6.7) 12.6 13
2 = [E BT R4.11.21 avvr BREET(<41) 16.9 17
3 = T R4.11.21 Ay REET(<5.9) RHEET(<5.) REEd
4 = AT R4.11.21 avYF BRHEE(<8.4) 16.8 17
5 = T R4.11.21 RL YUY RHEET(<6.4) RHEET(<55) REEd
6 = [EET R4.11.21 avyF BHE9(<45) BHE(<3.8) BRHEET
7 = [T R4.11.21 HhJ BRHEET(<4.2) BHE9(<3.6) BmEET
8 = [E BT R4.11.21 avyvr BHE9(<5.8) 5.57 5.6
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